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1p 32 In alinea 7 wordt duidelijk dat een hoger geluid harder is. 
 In welke eerdere alinea werd al duidelijk dat de hoogte van de toon 

ook bepaalt hoe hard een geluid klinkt? 
Noteer het nummer van deze alinea in de uitwerkbijlage. 
 
 

Tekst 10  Time capsule turns up in Donegal 
 

1p 33 Lees de hele tekst en kies dan bij    33    in alinea 1 het juiste antwoord uit 
de gegeven mogelijkheden. 
A beach erosion 
B climate change 
C foreign weaponry 
D maritime security  
 

1p 34 What is the main purpose of paragraph 2?  
A to describe how the finders overcame their fear of the capsule 
B to give details about the origin and the content of the capsule 
C to make clear why the capsule was locked and thrown away  
D to stress that the capsule was meant for a later generation 
 

1p 35 Kies bij    35    in alinea 3 het juiste antwoord uit de gegeven 
mogelijkheden. 
A was honoured to make their acquaintance 
B was pleasantly surprised about their interest in him 
C was shocked to have heard from them so soon 
D was upset that they were unable to communicate 
 
 

Tekst 11  Wearable tech-glove translates sign language 
 

1p 36 Kies bij    36    in alinea 1 het juiste antwoord uit de gegeven 
mogelijkheden. 
A Consequently 
B For example 
C However 
D In addition 
E In conclusion 
 
 
 
 


